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1. (…) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ …é¤øÅÛé ÉÛä× ? ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà ¾ÛÛ¤éø¶Ûà Š©¸ÛÛþù¶Û ¸Û±ùÜ©Û ›÷¨ÛÛÈÛà ©Ûé¶Ûà 
¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  6 

…¬ÛÈÛÛ 

  ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ …¶Ûé ˜ÛÛé””Ûà ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ¶ÛÛ ”ýÛÛÅÛÛé¶ÛÛ …¬ÛÙ …¶Ûé ©Ûé¾Û¶Ûà ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û 
˜Û˜ÛÛë. 

 (¼Û) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûä× “ÛéªÛàýÛ ¼Û×µÛÛÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 4 

     …¬ÛÈÛÛ 

  ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà ¾ÛäÉïéõÅÛà…Ûé ›÷¨ÛÛÈÛÛé. 

 (ïõ) “ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ ÍÛ×ïõÛé˜Ûïõ” ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 

     …¬ÛÈÛÛ 

  ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ …¶Ûé ”Û˜ÛÙÈÛÛ¸ÛÛªÛ …ÛÈÛïõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ˜Û˜ÛÛë. 

 

2. (…) ÜºõÉÛÁõ¶Ûä× ÜÈÛÜ¶Û¾ÛýÛ ÍÛ¾ÛàïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 6 

     …¬ÛÈÛÛ 

  ïéõ¾¼Ûóà›÷¶Ûä× ÁõÛéïõ¦ø¸ÛäÁõÛ×©Û ÍÛ¾ÛàïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 

 (¼Û) ¶ÛÛ¨ÛÛ×¶ÛÛ ïõÛýÛÛë ÍÛ¾Û›ÛÈÛÛé.  4 

    …¬ÛÈÛÛ 

  ¶ÛÛ¨ÛÛ×¶ÛÛ× ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé. 

 (ïõ) ½ÛÛÁõ©Û¶Ûà ÜÁõ¡öÈÛÙ ¼Ûé¶ïõ ³ùÛÁõÛ ¸ÛóÍ©Ûä©Û ¶ÛÛ¨ÛÛ×¸ÛäÁõÈÛ¥øÛ¶ÛÛ ÜÈÛÜ½Û¶¶Û ¾ÛÛ¸Ûþ×ù¦øÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 4 

…¬ÛÈÛÛ 

  ¶ÛÛ¨ÛÛ×¶ÛÛ ¸ÛäÁõÈÛ¥øÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë …¬ÛÈÛÛ ÜµÛÁõÛ¨Û¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 
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3. (…) ‘ÍÛé’ ¶ÛÛé ¼Û›ÛÁõ Ü¶ÛýÛ¾Û ¾ÛýÛÛÙþùÛÍÛÐü ÍÛ¾Û›ÛÈÛÛé. 6 

     …¬ÛÈÛÛ 

  ïäõÅÛ ¾ÛÛ×•Û Ýïõ¾Û©Û …¶Ûé ïäõÅÛ ¸ÛäÁõÈÛ¥øÛ Ýïõ¾Û©Û¶ÛÛ …ÛµÛÛÁéõ …¸Ûæ¨ÛÙ ÁõÛé›÷•ÛÛÁõà…é ÍÛ¾Û©ÛäÅÛÛ¶ÛÛé ïéõˆ¶ÍÛ¶ÛÛé 
ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 

 (¼Û) ÈÛ¸ÛÁõÛÉÛ ÜÈÛµÛéýÛ …é¤øÅÛé ÉÛä× ? ÈÛ¸ÛÁõÛÉÛ ÜÈÛµÛéýÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë. 4 

…¬ÛÈÛÛ 

  ÍÛÁéõÁõÛÉÛ ÈÛ¸ÛÁõÛÉÛÈÛèÜ«Û …¶Ûé ÍÛà¾ÛÛ×©Û ÈÛ¸ÛÁõÛÉÛÈÛèÜ«Û¶ÛÛ ”ýÛÛÅÛÛé ŠþùÛÐüÁõ¨ÛÍÛÐü ÍÛ¾Û›ÛÈÛÛé. 

 (ïõ) ¾Ûæ¦øà¶Ûà ÍÛà¾ÛÛÈÛ©Ûâ ïõÛýÛÙ“Û¾Û©ÛÛ …é¤øÅÛé ÉÛä× ? ¾Ûæ¦øà ÍÛÛµÛ¶Û¶Ûà ¸ÛäÁõÈÛ¥øÛÝïõ¾Û©Û …¶Ûé ¾Ûæ¦øà ÍÛÛµÛ¶Û¶Ûà 
ÈÛÛÜÌÛÙïõ …×þùÛÜ›÷©Û ïõ¾ÛÛ¨Ûà¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ÍÛ¾Û›ÛÈÛÛé.  4 

…¬ÛÈÛÛ 

  ÁõÛéïõÛ¨Û •Ûä¨Ûïõ¶Ûä× ÍÛæªÛ …Û¸Ûà ©Ûé¶ÛÛ ¼ÛÜÐüÍªÛÛÈÛÛé ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë. 

 

4. (…) ÈÛé¸ÛÛÁõ ˜Û’õ …é¤øÅÛé ÉÛä× ? ÈÛé¸ÛÛÁõ ˜Û’õ¶ÛÛ ©Û¼Û‘õÛ…Ûé ÍÛ¾Û›ÛÈÛÛé. 6 

…¬ÛÈÛÛ 

  ÈýÛÛ›÷ …×•Ûé ÁõÛéïõ¦ø¸ÛÍÛ×þù•Ûà¶ÛÛé ÜÍÛ±ùÛ×©Û ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛë. 

 (¼Û) ¾ÛÛ×•Û¸ÛóéÜÁõ©Û ºäõ•ÛÛÈÛÛ¶Ûà …ÛïèõÜ©ÛÍÛÐü ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 4 

…¬ÛÈÛÛ 

  ºäõ•ÛÛÈÛÛ¶Ûà ÍÛ¾ÛÛ›÷¶ÛÛ ›ä÷þùÛ-›ä÷þùÛ ÈÛ•ÛÛë ¸ÛÁõ ¬Û©Ûà …ÍÛÁõÛé ˜Û˜ÛÛë.  

 (ïõ) ºäõ•ÛÛÈÛÛ¶ÛÛ Ü¶ÛýÛ×ªÛ¨Û ¾ÛÛ¤é ¶ÛÛ¨ÛÛïõàýÛ ¶ÛàÜ©Û¶ÛÛ ¸ÛÜÁõ¾ÛÛ¨ÛÛ©¾Ûïõ ÍÛÛµÛ¶ÛÛé ˜Û˜ÛÛë. 4 

…¬ÛÈÛÛ 

  ºäõ•ÛÛÈÛÛ¶Ûà ÍÛ¾Û•Ûó …¬ÛÙïõÛÁõ¨Û ¸ÛÁõ¶Ûà …ÍÛÁõÛé ˜Û˜ÛÛë. 

 

5. ¼ÛÐäüÜÈÛïõÅ¸Û ¸ÛóÊ¶ÛÛé :   14 

 (1) 
ïäõÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõõ

ÈÛÍ©Ûà   =  

  (a) ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ (b) ¾ÛÛ¬ÛÛþùà¥ø …ÛÈÛïõ 

  (c) ”Û˜ÛÙÈÛÛ¸ÛÛªÛ …ÛÈÛïõ (d) ÈÛÛÍ©ÛÜÈÛïõ …ÛÈÛïõ 
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 (2) ”Û˜ÛÙÈÛÛ¸ÛÛªÛ …ÛÈÛïõ …é¤øÅÛé, 

  (a) ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ – ÈýÛÜî©Û•Û©Û ïõÁõÈÛéÁõÛ 

  (b) ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ + ÍÛ¼ÛÜÍÛ¦øà…Ûé 

  (c) ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ – ï×õ¸Û¶Ûà ÈÛéÁõÛ 

  (d) ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ + ï×õ¸Û¶Ûà ÈÛéÁõÛ 

 (3) ïäõÅÛ ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ = 

  (a) ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ + ˜ÛÛé””Ûà ÜÈÛþéùÉÛà …ÛÈÛïõ 

  (b) ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ + ÍÛ¼ÛÜÍÛ¦øà 

  (c) ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ + ïõÁõÈÛéÁõÛ 

  (d) ÈÛíéýÛÜî©Ûïõ …ÛÈÛïõ + ïõÁõÈÛéÁõÛ 

 (4) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ …ÍïõýÛÛ¾Û©Û¶Ûé …ÈÛé›÷ ¶ÛÛ¨Ûä× ïõÐüà ÉÛïõÛýÛ ? 

  (a) ÜÍÛ‘õÛ  (b) ¾Ûä°ù«Ûà ¬ÛÛ¸Û¨ÛÛé 

  (c) ¾ÛÛ×•Û ¬ÛÛ¸Û¨ÛÛé (d) ÈÛ˜Û¶ÛÜ˜Û¥Õø¥øà…Ûé 

 (5) ÁõÛéïõ¦ø¸ÛäÁõÛ×©Û ÍÛ¾ÛàïõÁõ¨Û¾ÛÛ× ¶ÛÛ¨ÛÛ×¶ÛÛ ïõýÛÛ ïõÛýÛÙ¶Ûé ¸ÛóÛµÛÛ¶ýÛ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈýÛä× ™öé ? 

  (a) ¾ÛæÅýÛ¶ÛÛé ÍÛ×•ÛóÛÐüïõ (b) ÜÈÛÅÛ×Ü¼Û©Û ˜ÛäïõÈÛ¨Ûà…Ûé¶Ûä× ÍÛÛµÛ¶Û 

  (c) ÜÈÛÜ¶Û¾ÛýÛ¶Ûä× ¾ÛÛµýÛ¾Û  (d) ÜÐüÍÛÛ¼Û¶Ûä× …éïõ¾Û 

 (6) V …¶Ûé T ÜÍ¬ÛÁõ ÐüÛéýÛ ©ÛÛé ¶ÛÛ¨ÛÛ×¶ÛÛ ¸ÛäÁõÈÛ¥øÛ (M) ¾ÛÛ× ÈÛµÛÛÁõÛé ¬Û©ÛÛ ¶ÛÛ¨ÛÛ×¶Ûä× ¾ÛæÅýÛ  

  (a) –Û¤éø ™öé . (b) ÈÛµÛé ™öé. 

  (c) ÜÍ¬ÛÁõ ÁõÐéü ™öé. (d) ÉÛæ¶ýÛ ¬Ûˆ ›ÛýÛ ™öé. 

 (7) ¶Ûà˜Ûé¶Ûà ïõˆ ¼ÛÛ¼Û©Û ¸Ûó©ýÛ“Û ÜµÛÁõÛ¨Û ¸Û±ùÜ©Û þùÉÛÛÙÈÛé ™öé ? 

  (a) …ÛéÈÛÁõ¦ÖøÛ¹¤ø (b) ›Û¾Ûà¶Û•ÛàÁõà…Ûé¶Ûà ”ÛÁõàþùà 

  (c) ÈÛé¸ÛÛÁõà Ü¼ÛÅÛÛé¶ÛÛ ÈÛ¤øÛÈÛ (d) ÅÛà¡ö ÜµÛÁõÛ¨Û 

 (8) ÁõÛéïõÛ¨Û •Ûä¨Ûïõ¶Ûä× ÍÛæªÛ 

  (a) K = 
ΔY
ΔI   (b) K = ΔY . ΔI 

  (c) K = 
ΔY
ΔI  × 100 (d) K = 

ΔY
ΔI   + 100 

 (9) ÍÛà¾ÛÛ×©Û ¼Û˜Û©ÛÈÛèÜ«Û …¶Ûé ÍÛà¾ÛÛ×©Û ÈÛ¸ÛÁõÛÉÛÈÛèÜ«Û¶ÛÛé ÍÛÁõÈÛÛÇÛé  

  (a) 0 ÐüÛéýÛ ™öé. (b) 1 ÐüÛéýÛ ™öé. 

  (c) 100 ÐüÛéýÛ ™öé. (d) – 1 ÐüÛéýÛ ™öé. 
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 (10) ¾Ûæ¦øà¶Ûà ÍÛà¾ÛÛ×©Û ïõÛýÛÙ“Û¾Û©ÛÛ …é¤øÅÛé  

  (a) ¶ÛºõÛ¶ÛÛé …¸ÛéÜ“Û©Û þùÁõ (b) ÈýÛÛ›÷¶ÛÛé …¸ÛéÜ“Û©Û þùÁõ 

  (c) ÁõÛéïõÛ¨Û¶ÛÛé …¸ÛéÜ“Û©Û þùÁõ (d)  ÁõÛéïõÛ¨Û•Ûä¨Ûïõ 

 (11) “ÍÈÛÄõ¸Û” ¶Ûà ´ùÜÌ¤ø…é ºäõ•ÛÛÈÛÛ¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé¾ÛÛ×¶ÛÛé …éïõ  

  (a) ¾ÛÛ×•Û-¸ÛóéÜÁõ©Û ºäõ•ÛÛÈÛÛé ™öé. (b) ”Û˜ÛÙ ¸ÛóéÜÁõ©Û ºäõ•ÛÛÈÛÛé ™öé. 

  (c) ÍÛÁõïõ©ÛÛé ºäõ•ÛÛÈÛÛé ™öé. (d) ”ÛäÅÅÛÛé ºäõ•ÛÛÈÛÛé ™öé. 

 (12) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ¶ÛÛ¨ÛÛïõàýÛ ¶ÛàÜ©Û¶Ûä× ÍÛÛµÛ¶Û ïõýÛä× ™öé ? 

  (a) ›ÛÐéüÁõ ”Û˜ÛÙ (b) ›ÛÐéüÁõ …ÛÈÛïõ 

  (c) ïõÁõÈÛéÁõÛ (d) ¼Ûé¶ïõ Áéõ¤ø 

 (13) ºäõ•ÛÛÈÛÛ¶Ûé ¸ÛÜÁõ¨ÛÛ¾Ûé ˜ÛÅÛ¨Û¶Ûä× ¼ÛÛÔ ¾ÛæÅýÛ  

  (a) –Û¤éø ™öé. (b) ÈÛµÛé ™öé. 

  (c) ÜÍ¬ÛÁõ ÁõÐéü ™öé. (d) ïõÛéˆ …ÍÛÁõ ¬Û©Ûà ¶Û¬Ûà. 

 (14) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÍÛ×ßÛÛ ÍÛ×ïäõÜ˜Û©Û ¶ÛÛ¨Ûä× þùÉÛÛÙÈÛé ™öé ? 

  (a) M1  (b) M2 

  (c) M3  (d) M4 

________ 
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1. (a) What is National Income ? Explain production method to measure National Income 
and its limitations.  6 

OR 

  Explain the concepts of Gross Domestic Product (GDP) and Net National Product 
(NNP) and differentiate between them. 

 (b) Explain sectoral composition of National Income. 4 

                                OR 

  Describe difficulties in measuring National Income. 

 (c) Write a note on “GDP deflator”. 4 

                     OR 

  Differentiate between Personal Income and Disposable Income. 

 

2. (a) Explain Fisher’s equation of exchange. 6 

                            OR 

  Explain Cambridge’s cash balance equation. 

 (b) Explain functions of Money. 4 

                OR 

  Explain types of Money. 

 (c) Explain alternative measures of money supply as proposed by the Reserve Bank of 
India.   4 

OR 

  Discuss the factors affecting money supply or explain types of credit. 
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3. (a) Explain Say’s law of Market with its limitations. 6 

OR 

  Explain Keynes’s under-employment equilibrium theory on the basis of aggregate 
demand price and aggregate supply price. 

 (b) What is consumption function ? Explain in short the factors affecting consumption 
function.   4 

OR 

  Explain the concepts of average propensity to consume and marginal propensity to 
consume with the help of an example. 

 (c) What is marginal efficiency of capital ? Explain supply price of capital asset and 
present value of the annual expected returns of capital asset. 4 

OR 

  Describe the equation of Investment multiplier and discuss in short the leakages of 
Multiplier. 

 

4. (a) What is business cycle ? Explain phases of business cycle. 6 

OR 

  Critically discuss Liquidity Preference Theory of Interest. 

 (b) Explain diagrammatically demand pull inflation. 4 

OR 

  Discuss the effects of inflation on the various classes of the society.  

 (c) Discuss the quantitative measures of monetary policy to curb inflation. 4 

OR 

  Discuss the effects of inflation on the economy as a whole. 

 

5. Multiple Choice Questions.  14 

 (1) 
Total National Income

Population  =  

  (a) Personal income (b) Per capita income 

  (c) Disposable income (d) Real income 
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 (2) Disposable income means 

  (a) Personal income – Direct taxes paid by individual 

  (b) Personal income + Subsidies 

  (c) Personal income – Corporate taxes 

  (d) Personal income + Corporate taxes 

 (3) Gross National Product = 

  (a) Gross Domestic Product + Net Factor Income from abroad 

  (b) Gross Domestic Product + Subsidy  

  (c) Gross Domestic Product + Taxes 

  (d) Personal Income + Taxes 

 (4) Which of the following assets is near-money ? 

  (a) Coins (b) Time deposits 

  (c) Demand deposits (d) Promissory Notes 

 (5) The cash balance equation stresses on which function of Money ? 

  (a) Store of Value (b) Standard of deferred payment 

  (c) Medium of Exchange (d) Measure of value 

 (6) V and T remain constant, if (M) money supply increases, the value of money will 

  (a) decrease (b) increase 

  (c) remain constant (d) become zero 

 (7) Direct credit includes 

  (a) Overdraft (b) Purchase of securities  

  (c) Discounting of commercial bills (d) Leasing 

 (8) Formulae of investment multiplier 

  (a) K = 
ΔY
ΔI   (b) K = ΔY . ΔI 

  (c) K = 
ΔY
ΔI  × 100 (d) K = 

ΔY
ΔI   + 100 

 (9) The addition of marginal propensity to save and marginal propensity to consume is 

  (a) 0  (b) 1 

  (c) 100  (d) – 1 
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 (10) Marginal efficiency of capital means 

  (a) expected rate of profit (b) expected rate of interest 

  (c) expected rate of investment (d) investment multiplier 

 (11) On the basis of “Nature” one of the types of inflation is called 

  (a) demand-pull inflation (b) cost-push inflation 

  (c) creeping inflation (d) open inflation 

 (12) Which of the following is a measure of monetary policy ? 

  (a) Public expenditure (b) Public revenue 

  (c) Taxation (d) Bank rate 

 (13) Because of inflation, the external value of money will 

  (a) decrease (b) increase 

  (c) remain constant (d) not get affected 

 (14) Narrow money refers to 

  (a) M1  (b) M2 

  (c) M3  (d) M4 

__________ 
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